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Mandatory or Optional : Mandatory

Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191673
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 70819111578 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4

The value of the integral _”9 J-"|dJL' is :
—4

Options :

o
L3 | b
-

70819137571.

70819137572, 2

70819137573.

70819137574, °

Question Number : 1 Question Id : 70819111578 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



flo-22|dx 3 sapen, 3P
-4
Options :
12
70819137571.
122

70819137572, 3

70819137573. 2

70819137574, °

Question Number : 2 Question Id : 70819111579 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The sum of infinite number of terms of a Geometric Progression is 3 and the sum of the

squares of its terms is . The sum of the cubes of its terms is :

Options :
el
70819137575, 12
108

70819137576, 19

m| =

70819137577.

5
70819137578. 7



Question Number : 2 Question Id : 70819111579 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TER030 FeROD ©FOZ FOP0D TANY BweS 3 D LU0 JIT JInF - SN, ¥T0 TITT

b | e

TN :

Options :
31
70819137575, 1°
108

70819137576, 12

m|5:ﬂ

70819137577.

e
70819137578. 7

Question Number : 3 Question Id : 70819111580 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following Boolean expression is a tautology ?
Options :

70819137579, F =P V4

70819137580, (P9 =P

70819137581, P~ PV a) v (~q)



20819137582, (P ¥ "P)~ (@ v (~q))

Question Number : 3 Question Id : 70819111580 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o ) e,

S9NT WRIORT LRRS oY PR (tautology) CSRAT ?
Options :

70819137579, F =P V4

70819137580, (P~ =P

70819137581, P~ PV @) v (~9)

70819137582, PV "P) A (@ Vv (~9))

Question Number : 4 Question Id : 70819111581 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let |a| <1, [bl<1, |c|<1 and x=la",y= l b" z= Zc". If

n _-{] n:{] n :{]

:

1
x Y are in Arithmetic

ra | =

Progression, then :

Options :

70819137583, & b and care in Arithmetic Progression

70819137584, & b and c are in Geometric Progression

70819137585, & 2b and ¢ are in Arithmetic Progression

! : 5 | T
70819137586, & b and ¢ satisfy 2b-=ac



Question Number : 4 Question Id : 70819111581 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
s ] a0 o
OBR3 a|<1, [b<1, ||<1 303 x=) a", y=) b",z=) " womd Fe§ v v

n=[ n=(0 n=(

i
ok
Py | =

L e

ne SG00 :

0 o ol ol el
e o IR

(€

Options :
a, b @B c A[WOST JeRODY (AP).

70819137583.

a,b ma;c nish o030 Fedon s (GP).
70819137584. '

a, 211&“‘3.;(: neh TZR0BT JeR0LISE (AP).
70819137585. -

a,b EE»; ¢ 2b?=achi ?ics&%jmﬁ:i
70819137586.

Question Number : 5 Question Id : 70819111582 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ih\zl?nIS

= nl is equal to :

n
Options:

70819137587, 19e+5

70819137588, 19¢—5

70819137589, 16e—>



70819137590, 16e—7

Question Number : 5 Question Id : 70819111582 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

' 2112

>

n=1

+Fm+5
et

D%, A[NB -

¢(“1

n!
Options :

70819137587, 19e+5

70819137588, 19e—5

70819137589, 16e~5

=]

70819137590, 16€-

Question Number : 6 Question Id : 70819111583 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least positive integral value of A such that 1070+ (3% (4)°2)+ A is divisible by 9 is :
Options:

70819137591, 2

70819137592.

|

70819137593.

70819137594, 1



Question Number : 6 Question Id : 70819111583 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TOF RT0IE wARE, BSIR A, 100+ (3 X (4)7) +2, 9 00T FPNIVTTNG :
Options :

70819137591, 2

[F5)

70819137592.

! |

70819137593.

70819137594, 1

Question Number : 7 Question Id : 70819111584 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are 4, 5 and 6 points on the three parallel and co-planar lines. If no set of four or more
points is cyclic and no set of three points lying on distinct lines is collinear, then the number
of circles passing through exactly three points is :

Options :

70819137595, 455

70819137596, 421

70819137597, 435

70819137598, %1



Question Number : 7 Question Id : 70819111584 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

D FARTOIT W), VFIHIO TeINYY 4, 5 DX 6 VOPNYS. Ty LT By
Romny ¢RIFTAQRGET D) QPF, SednvY Medd Romdny aRTe deedReadt
(ASRF TRENOEFEY) SNLDTED. Sn MR LODNY MEOF TDRIRMIT. [OOD
qosj,

Options :

70819137595, 455
70819137596, 421

70819137597. 435

70819137598, %1

Question Number : 8 Question Id : 70819111585 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ar —b )
Ify= —_1] has an extremum at the point (2, —1), then the values of aand b are:

(x—1)(x
Options:

70819137599.

70819137600.

70819137601.

70819137602, 2= L P=1



Question Number : 8 Question Id : 70819111585 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ar—b S — . -
y= —{ ]:| {J_ _1) 2,000 LC-““:J;}‘_\ {2, "1],&153;\1-:). =00 a '-'"‘E":’ b o L8000 ¢
: ; \ 2
Options :
70819137599, a=1, b=0
70819137600, 2= b=1
70819137601, 2=0, b=—1
70819137602, 2= L P=1

Question Number : 9 Question Id : 70819111586 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The distance between the planes ? {2.:'. [ ; Bk' +5=0 and ? I,b";" | ";; 6k| +2=01is:

Options :

70819137603. 12
70819137604, %

70819137605. ¢

70819137606.



Question Number : 9 Question Id : 70819111586 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
7|20 +j-2k) +5=0 o T- |61 +3]-6k)+2=0 3 xdIone IBDIF L0 :

Options :
2

70819137603. 17

15
70819137604, 4

13
70819137605, ¢

E

70819137606, -

Question Number : 10 Question Id : 70819111587 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5
The probability of solving a problem in Mathematics by two students X and Y are 1 and 5

respectively. If both of them try to solve the problem independently, then the probability
that the problem will be solved by exactly one of them is equal to :

Options :
L
70819137607, 20
Sl
20
70819137608.

708191376009.



.

70819137610. 20

Question Number : 10 Question Id : 70819111587 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el o e, gl e P gl g, ey - e gyl ey 7 el i, g, e, i, e, T LS

NEEERANY R00M, (FRLLNT) QU RGN e X =3 Y - 23 —.

= < s Gl SR P

el e e, ol e ol T g e e s me g a el am g T e, £ el e g, e DO
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7
70819137607, 20

70819137608.

70819137609. 20

12

70819137610. 20

Question Number : 11 Question Id : 70819111588 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i is equal to :

The polar form of the complex number
1—i

Options :



il . - il
cos — +1sin—
> >

70819137611. e 5
cc}s;i i sin%
70819137612. = =
cns'—rr | isini
70819137613.  * '
cnsi i .'ainE
70819137614. ' '

Question Number : 11 Question Id : 70819111588 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FOBeRF RO, 3
® 1—i

Options:

cnsz [ fsinT—'
” ”
70819137611. 5 5

70819137612. &= &

cos — +1 sin—
70819137613, 2 :

cos L { .'?»inE
70819137614. ' '

Question Number : 12 Question Id : 70819111589 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the equation of a line which divides the line segment joining the points (I, 0) and (3, 0) in
the ratio 2: 1 and is also perpendicular to it, is ax=7, then the value of a is equal to :

Options:

I3

70819137615.

70819137616. -

70819137617.

70819137618, 1

Question Number : 12 Question Id : 70819111589 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2:1 YTITY (L, 0) D23 (3,0) @oIndR, X, TeLoL RNTW, VPEWR 1B
Y08 OCWIMNTT ANeToRTH axr=7$T0. a § PO
Options:
s
70819137615.

70819137616. -

70819137617.

70819137618, 1

Question Number : 13 Question Id : 70819111590 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Equation of the circle, which is the mirror image of the circle 1%+ y>~2v=0 with respect to
the line x+y=2, is :

Options :
70819137619, ¥ty —2x+4y+3=0

3

2+ P —4x—2y+4=0

70819137620.

il ard L oard ) e 10
70819137621, 2@~ +y) —x+y+1=0

o 2 ST, T al
70819137622, ¥ tY¥ —2x—4y+3=0

Question Number : 13 Question Id : 70819111590 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
S0 ez FI0 IR Qow 4yt -u=0 IR KowohaTod x+y=2 $hd
Options :
2 g
-2 7, R P .
70819137619, ¥ t¥ —Zx+4y+3=0

-

x2+y—4x—2y+4=0

70819137620.

SEs e 5
70819137621, 2" +y) —x+y+1=0

2. S, P il
70819137622, ¥ Ty —2x—4y+3=0

Question Number : 14 Question Id : 70819111591 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



=1 and the circle

Equations of the common tangent of the ellipse
(x+1)2+ (y—1)>=4 are :
Options :

70819137623. y+3=0 and x—1=0

70819137624, ¥ ~3=0 and y+1=0

70819137625, ¥ t3=0 and x—1=0

y+3=0 and y—1=0
70819137626.

Question Number : 14 Question Id : 70819111591 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ot STy J

208, IR, 1Breng Avesds O ;2” P 32” 1203 33+ (-12=4
qw
Options :

y+3=ﬂm&;x—1=ﬂ
70819137623.

x—=3=0= y+1=0
70819137624, i

x+3=[]¢~;.'—'§x—1=ﬂ
70819137625.

y+3=ﬂm&:‘y—1=ﬂ
70819137626.

Question Number : 15 Question Id : 70819111592 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

| 1l a
If A= LJ J , then Ak (keN)is :

Options :

70819137627.

70819137628.

70819137629.

[l ka}
0 0
70819137630.

Question Number : 15 Question Id : 70819111592 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

gl 't a e .
2,000 Beg .-1=|” 08, Ak (ke N) o3 :

Options :

70819137627.

1 k‘a
I &

70819137628.

70819137629.



k ka
0 k.

1 ka
0 0
70819137630.

Question Number : 16 Question Id : 70819111593 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The values of s and t, for which the system of equations
X, +2,1'2+ 3,1'3: 9
xy+3x;+sx3=t

has no solution, are :

Options :

70819137631, 5=2, t=13

70819137632, S# 2

70819137633, S=2> t# 13

70819137634, 1 13

Question Number : 16 Question Id : 70819111593 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

xl+2,1'2+313=9
Xy +3x, +sx,=t

JRRhe TOTO0HW, BRCLTT
=

b |

SRETTER zmﬁqjca, s @I t N FSoIW :



Options :

70819137631, 5=2, t=13

70819137632, S=5

70819137633. °

70819137634, 1# 13

Question Number : 17 Question Id : 70819111594 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1. . f )
: . =1
5 | with respect to sin
e B \1+x" )

i
Derivative of tan ‘ in (1, =), is:

Options :

70819137635.

70819137636, ~ 1

70819137637.

-2

70819137638.

Question Number : 17 Question Id : 70819111594 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2% ) le'“'_

] P T e . T ]
tan ‘ =~ | &, Howopamed sin ‘

4,

Options :



70819137635.

70819137636. ~ !

70819137637.

I

70819137638.

Question Number : 18 Question Id : 70819111595 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—_  — - =

=1, It a><|,a><c_ t b=10, then

—_ -3 —

Let a, b and ¢ be three vectors such that ‘a‘:

‘_“

a

b

E\J|

—

o
the acute ang_le between a and ¢ is:

Options :

NP

70819137639.

NE

70819137640.

T
q

70819137641.

5
12

70819137642.

Question Number : 18 Question Id : 70819111595 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



2 el R0ITWNE, Fo20 ‘a‘: b 7=l ax[_axc_]l b=0 &30

a WA ¢ IRWIT O BREIY) ¢
Options :

m

b

70819137639.

4

70819137640.

a
3

70819137641.

s

12
70819137642.

Question Number : 19 Question Id : 70819111596 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Solution of the differential equation (1 +y?)dx = (tan~ly—x)dy is :
(where c is an arbitrary constant)

Options :

at -1 —til‘l_lj.,r
70819137643, Y~ 1 tan ‘ytce

- 1 tan 'x
70819137644, ¥~ @M Y1t ce

_ -1 —t:u‘l_lj.,r
70819137645, Y tan y-ltce

N : 1 l::ln_l_'J_'
70819137646, ¥~ tan y—1-ce



Question Number : 19 Question Id : 70819111596 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o o, o e

Options :

il -1 —til‘l"lj.,r
70819137643, ¥ 1 tan ‘ytce

- T .
70819137644, Y—tAN Y- 1tce

_ -1 —tan_lj.;
70819137645, Y- tan y—ltce

70819137646, a0 Y

Question Number : 20 Question Id : 70819111597 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.

o : 3 :
The values of x, for which the vectors a = (x>~16)1 t4 j— (x*—~25)k make acute angles with

the (positive directions of) coordinate axes lie in :
Options:

70819137647, 17> ~4 < 4. 5]

70819137648, 1724 w (=4, 3]

70819137649, (72 3w (& 9)

70819137650, (> (=49)



Question Number : 20 Question Id : 70819111597 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A,

—
d
e S60

Options :

70819137647, L2 ~4 < 4. 5]

70819137648, L9 4) W (=4 3]

70819137649, (72 ~4) W (& 5)

70819137650, (> D (749)

= (x2-16)i +4 - (x* - 25)k R0ZE AdkerTot wndeoL OF decIdm, woL IRRI

Mathematics Section B

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

708191394
2

Online
Mandatory
10

5

20

Yes

1
708191674

Yes



Question Number : 21 Question Id : 70819111598 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

dx 1s
2

Tj M+ cos2x
0 1.|||| <

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819111598 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

P ]
o o

2

“} T+ cos2x
- Vo2
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819111599 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The minimum value of 9tan20 +4cot20 is

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819111599 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Otan?0 +4cot?03 E-Fl‘«:"ﬁ Zdodn -

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819111600 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

"
The length of the perpendicular from the point (1, 2, 3) to the line = = is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819111600 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

Komd (1,2, 3) LoT Tedr = LoWT VT T, ?

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819111601 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

; 2
If log, 2, log, (2*—5) and log: i Ly L | are in Arithmetic Progression, then the value of x is
3 3 83 ?)

L

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819111601 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

logs 2 Iog, (2~5) 53 logy2° - L] asmo¥y deaonggd (AP ead x 3 o
o)

A\

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819111602 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

i ¢ 132 ¢ V-
If x24+x+1=0, then J11 i| I|1’2
X/

|\

Response Type : Numeric

e
1‘2 g \ o il I
Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819111602 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

200 ¢ a2+x+1=0, 500 Jlfx i"z ||fx2 i| |‘fx3 ile 03
[~ XJ x° ) ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 26 Question Id : 70819111603 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

x2+y2=4x-2y-11=0 is a circle to which tangents are drawn from the point (4, 5) which
form a quadrilateral with a pair of radii. The area of this quadrilateral in square units is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819111603 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

12+y2--4x-2y-- 11=0,

(4,5) ROANOT AT, SYOWB! 20T FTWND, AW
2,000 Bl Sgnisweoln ¢

DD HDW, CALWIN. S8 BYAPIFE TOEIP VDT JITRTTY

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819111604 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the sum of mean and variance of a binomial distribution is 15 and the sum of their squares
is 117, then the number of independent trials is equal to .

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819111604 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

INY WNFNT @RS 117 &

S Y T

|

—

Question Number : 28 Question Id : 70819111605 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let the equation of the plane passing through the points (1, 2, 6), (2, 5, 7) and perpendicular
to the plane 4x—y+z=15be ax+by+cz+d=0. Ifa, b, ¢, d= Z with ged (|a|, |b, |c)=1,

then |atb+c+d|isequal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 28 Question Id : 70819111605 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
(1,2

-

Zanedtony dv-y+z=15 axtby+cz+d=0 SNd. wom He¥ a, b, ¢, deZ ged
c)=1, =30 a+b+c+d AR

vl ol py e — — — J\u-.\m.

{..,5 H‘JVVUJ'I'&' {L::-:QFFE) W07 Toli@mEMiue Aded

o e, e, el oy

B0L NN AmRELD
(a,

cl!c"'
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r

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819111606 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

e |

—_
i

' -‘ of the equation 4sin®y —8sinx +3=0

3
The number of real solutions in the interval [ e

15 _ -
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819111606 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3r Tw
Qi 000 5 ROTONTY A0S, ’V —r | AeRET00) 4sin?y —8sinx +3 =10 UHCQ'E

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819111607 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1110
Ao and

Let A;, Ay Ag o be an increasing geometric progression. If T4 As 6
AzA =441, then 3(A,+A,) is equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819111607 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

"L W
' Ry 6 B AA=UISTE, A +A)

o By v TS 0030 JeRoin Ay 03
N ZS@ehd.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Aptitude Test
Section Id : 708191395
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191675
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819111608 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which among the following is the full form of the "UNESCO" ?
Options:

70819137661. United Nations Educational, Scientific & Cultural Organization.
70819137662, United Nations Educational Security Cultural Drgani:zation.

70819137663. United Nations Entrance Site Calling Drga_nizatinn.

United Nations Educational, Sustainable & Cultural Organization.
70819137664.



Question Number : 31 Question Id : 70819111608 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

‘NP AR TOT TOJerer DICW, S FINT =03000T SDORD.
% 2 =\

Options :

70819137661, COONEE NEET, QWITIT, ATWLT DY, 39T SN GRTT
20819137662, COVUFETE TEET, 2eFETICT AR IPOT enFaETT
20819137663, CLSRASTE ST, Q0T AEF IO SniF TS

20819137664, P ST, QIS AR WP, IQTS ene i

Question Number : 32 Question Id : 70819111609 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1

(I) Hall of Nation (a)

(II) Falling Water, Pennsylvania (b)

(IIT) Petronas Tower (c)
(IV) Secretariat (d)
Options :

70819137665, (D-(P), (ID-(a), (ID)-(d), (IV)-(c)

70819137666, (0) (ID-(d), (ID)-(a), (IV)-(b)

20819137667, V-@). (ID-(b), (D)-(c), (IV)-(d)



20819137668, OBy (Ha), (D<), EV)Hd)

Question Number : 32 Question Id : 70819111609 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

DR0HA LB0WD.
eﬁ&é -1

1) oS oF I (a)

(M) TROOIF T, UTFATT W0  (b)

() BekemeT I (©)

(IV) A3gdedodoes* (d)




Options :
70819137665, L-(b), (ID-(a), (IID)~(d), (IV)-(c)

70819137666 (D)-(c), (ID)-(d), (ID)-(a), (IV)-(b)

70819137667, 1) (ID-(b), (D-(c), (IV)-(d)

20819137668, 412 (THa), (<), (EV)Hd)

Question Number : 33 Question Id : 70819111610 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L

List - 1 List - 11
() Kamru (a) Victoria Memorial Hall
(IT) Delhi (b) Badrinath Temple
(IIT) Fatehpur Sikri (c)  Khirki Masjid
(IV) Kolkata (d) Buland Darwaja

Options :
20819137669, D1, (-0, (-, (IV)-(a)

70819137670, (D-(b), (ID-(d), (T)-(c), (IV)-(a)
20819137671, D), (I)-(a), (ID)-(b), (IV)-(d)

70819137672, - (P)- (ID-(@). AId), (IV)-()

Question Number : 33 Question Id : 70819111610 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

SDROBA w3owd.

=ed - 1 =3 - 11

(1) FDD (a) QBReO0ID DBROODS FTooF
(I @9 (b) 28T cﬂfam-—%ﬁ

() FB3eBHT A (c) DT AT*

(IV) é.ret%?i (d) 2WVOTF TT =l

Options :

20819137669, Wb}, (I)-(c), (D-(d), (IV)-(a)

70819137670, (D-(b), (ID-(d), (T)-(c), (IV)-(a)

20819137671, D), (I)-(@), (D)-(b), (IV)-(d)

70819137672. (D-(b), (I)-(a), (ID)-(d), (IV)-(c)

Question Number : 34 Question Id : 70819111611 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1 List - 11

() Agra fort (a)
(II) Atala Masjid (b)
(Il Nalanda University (c)
(IV) Jagannatha Temple (@
Options :

20819137673, D-(b), (ID-(c), (IID)-(a), (IV)-(d)

70819137674, (D-(@), (ID-(b), ([D-(c), (IV)-(d)

70819137675, 1) (D-(a), (ID-(d), (IV)-(b)

20819137676, V- (0) (I)-@). (D~(c), IV)(d)



Question Number : 34 Question Id : 70819111611 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

DROOA 20T,

T - 1
() o, deced (a)
() ©Bo A (b)

(I SO0 DJLTLOR (c)

(IV) &RRF® zﬂeﬁmﬁp ] (d)

Options:
70819137673, 1-(b), (ID-(), (ID)-(a), (IV)~(d)



70819137674, (D-(@), (ID-(b), (ID)-(c), (TV)-(d)

70819137675, (019 (D-(@). (D)-(d), (IV)-(b)

20819137676, V- (P) (ID-(@), (D)-(c), (IV)~(d)

Question Number : 35 Question Id : 70819111612 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II.

List - 1 List - 11
(I) Yadvindra Garden (a) Manali
(IT)  Vishnu Temple (b) Amritsar
(ITI) Hidimba Temple (c) Pinjore
(IV) Hari Mandir (d) Buniyar
Options :

20819137677, (0-(¢) (1H(d), (ID)-(b), IV)-(a)

70819137678, (D-(©). (I)-(d), (ID)-(a), (TV)-(b)

70819137679, (D-(d), (ID-(b), (ID)-(c), (IV)-(a)

70819137680, (D-(P), (I)-(d), ([D)-(a), (IV)-(c)

Question Number : 35 Question Id : 70819111612 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



TROOE LToWD.

WY -1 e - 1
() ONTFUOT, YNTRIFT (a) =D
(I 2= Cﬂrfam’-‘amﬁ (b) ©=ZAC
(II) @O cﬂfm-amsd (c) &0ERT
(IV) &0 =HohdT (d) 2003RO*
Options :

70819137677, W) (-(d), (ID)-(b), IV)-(a)

70819137678, (D-(©) (I)-(d), (I)-(a), (IV)-(b)

20819137679, (D-(d), (1)-(b), (ITD)-(c), (IV)-(a)

70819137680, (D-(P), (I)-(d), (LI)-(a), (IV)-(c)

Question Number : 36 Question Id : 70819111613 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11.

List - 1 List - 11
(I)  Mehrangarh Fort (a) Hyderabad
(II)  Siri Fort (b) Kolkata
(IIT) Golconda Fort (c) Delhi
(IV) Fort William (d) Jodhpur

Choose the correct answer from options given below :
Options :
20819137681, (D-(@), ()-(d), (ID)-(b), (TV)-(c)

20819137682, (D-(d), (ID-(c), (ID)-(a), (TV)-(b)

70819137683. (D)=(d), (IT)=(c), (ID)=(b), (IV)-(a)



Question Number : 36 Question Id : 70819111613 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TRoDA wdowd.

ﬁ'é_:-u“;-l 3 - 11
() ST NG Fweetd (a) aﬁ&’dmmaf
(I) a0 3wedd (b) Beeyse

() Ardnod g () BD

(IV) PeeFs 29odo (d) Heextzbo*

39R Bniidhs wonvon XoolRE wuEsHE, ©da IO,
Options :

20819137681, (0@, (), (ID-(b), (IV)~(c)

20819137682, (-, (D-(©), AD-(@a), AV)-(b)

20819137683, (D), (ID)-(c), (LD)-(b), (IV)-(a)

20819137684, 0@ (D-(b), (HD-(d), IV)~(c)

Question Number : 37 Question Id : 70819111614 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Book ‘God of small things’ is written by which Indian Architect ?
Options :

70819137685, B-V- Doshi

70819137686. Arundhati Roy



70819137687, evati Kamat

70819137688, Dimal Patel

Question Number : 37 Question Id : 70819111614 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“meEt o AR Qo™ How TATBI, 0T Hoosd 2039 oD 9
Options :

70819137685, -2 TaRE

SrNAT e At
70819137686. ©OPS To0d

70819137687, Ot0® TOOT

70819137688, e Tedeer*

Question Number : 38 Question Id : 70819111615 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Tharokha’ is a type of window mostly found in :
Options :

70819137689, Cuiarat

70819137690, 'Vest Bengal

70819137691, lamil Nadu



70819137692, Rajasthan

Question Number : 38 Question Id : 70819111615 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& ORETD ﬁ-’ej-:flloda 3L3B0DT, B3 Eaﬁiﬁ R TRWIT ?
Options :

70819137689, T0HT3

= omeF
70819137690.

70819137691, SR TR

To AR5
70819137692.

Question Number : 39 Question Id : 70819111616 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The monsoon wind enters in Indian sub-continent from which direction ?
Options :

70819137694, SOuth-East side

70819137695, North side

70819137696, Scuth-West side



Question Number : 39 Question Id : 70819111616 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
[ITRRT MOYORY 0IFWI ﬂéﬁoﬁ gR03T m‘:aﬁ:ﬂoc‘é% LTS

I, Gl
€L
|

Options :
QUBo-TAW DF0T
70819137693. = = v

S2co—mo e Tw
70819137694, Sore—RR[E DIN0T

VB0-0320T
70819137695. = e

Beco-TB DINOT
70819137696. = B

Question Number : 40 Question Id : 70819111617 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following building represents the colonial Architectural pattern in India ?

Options:
70819137697, Bharat Bhavan in Bhopal

70819137698 LIC Building in Delhi

70819137699. Charminar in Hyderabad

70819137700. Victoria Memorial in Kolkata



Question Number : 40 Question Id : 70819111617 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

8 39NT oM BuER “Bederdode” MAPLT SRR, BIAHHIS ?
Options :
=t ! - e

70819137697, P08 BIT — LRETS

3-'3‘ 1 i o
70819137608, 2T XA TWE — O

ol 'y P e = _—
70819137699, B300 SRRT — HT0RT
20819137700, WEREOIR NWREOAMS ~ JREGTY

Question Number : 41 Question Id : 70819111618 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What is the size of A2 Drawing sheet ?
Options :
70819137701. 420 x 590 (mm x mm)

70819137702, $20%5% (mm X mm)

70819137703, 297 ¥ 420 (mm x mm)

70819137704, 20592 (mmx mm)

Question Number : 41 Question Id : 70819111618 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
A2 RO detrs ©wdd oxD ?
Options:

A20) » Fym Tym e Fyn T
70819137701, $207¢590 (222.209. >00.20.)

70819137702, 420594 (£2.600. xe®.e0.)

K

297 x 420 (222.e20. X 2.

9
r

N
P

70819137703.

9

420592 (239.=0. *

r
9
r
N
e

70819137704.

Question Number : 42 Question Id : 70819111619 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Victory Tower belongs to which of the following fort :
Options :

70819137705, Chittor fort

70819137706. J'ﬂigarh ftort

70819137707, Phangarh fort

70819137708, ~xmer fort

Question Number : 42 Question Id : 70819111619 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
“030 BO” 81 B9NT BT deetdR B3 9



Options :
SN R 8
70819137705, L5020 SR

@ o dweced
70819137706. ¢

AT A te i AT
70819137707.

eazdesf dnctd
70819137708.

Question Number : 43 Question Id : 70819111620 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which amongst the following Architect has designed the famous Temple “Akshardham” ?
Options :
70819137709, Samjay Puri

70819137710, Vikram Lall

70819137711, Ashok Lall

70819137712, & Sompura

Question Number : 43 Question Id : 70819111620 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
aﬂ%wﬁ BT :‘Lfm@odaﬁeisi ORE =ARSDOIN amﬁﬁwm%d ?

Options :



708191377009.

70819137710. ——~

70819137711, =

70819137712, 7

Question Number : 44 Question Id : 70819111621 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“Volume Zero” Documentary is on which Architect ?
Options :

70819137713. Charles Correa

70819137714. Richard Mier

70819137715. Jasbir Sachdev

70819137716, Ranjit Sabliki

Question Number : 44 Question Id : 70819111621 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“aﬂuaﬂf 22eB R R0 ;’rg @Y o WAdIoD e «03=NE 9

Options :

e F3RD0®
70819137713. ~



C § 2 orgE
70819137714, CE@ £ W00

70819137715, ®FT LT AdTied

cozied Aged
70819137716. '

Question Number : 45 Question Id : 70819111622 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
‘Agenda 21" is declaration related with :
Options :

Climate change
70819137717.

70819137718, Clobal warming

70819137719, ustainable development

70819137720, Smart city

Question Number : 45 Question Id : 70819111622 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

23000 21 D0LNTD O3 TeeABA Towohad 2
Options :

20819137717, BRRRNT WTLRBE

J

T8 = = ey 5 o i N ~ o, .
70819137718, ZoN18% TOT[WT Q0T (MR WRFONY)



70819137719, AC ©RHD (FIZeWS BIOT 0

WIFE At
70819137720, " ¢

Question Number : 46 Question Id : 70819111623 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Gold mines are situated in which state of India ?
Options :

Karnataka

70819137721.

70819137722, Orissa

70819137723. Maharashtra

70819137724, Uttar Pradesh

Question Number : 46 Question Id : 70819111623 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
PoU3E odwes CoxY 88T NdNe ?

Options :

- 1%
70819137721, SO0F &8

o]
70819137722. md

70819137723. =



N33 T3eT
70819137724, T0E0 TEET

Question Number : 47 Question Id : 70819111624 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the Southern Hemisphere shadowless light is from which direction ?
Options :

70819137725, North

70819137726, Scuth

70819137727, Cast

70819137728, West

Question Number : 47 Question Id : 70819111624 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

D3 ALERTFTY (RTT'F BaNoRT) S0vY dve CIRT DIN0T wTEH 9
Options :

70819137725, = =
70819137726.

70819137727.

i

70819137728.



Question Number : 48 Question Id : 70819111625 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The first Indian Architect who has won Pritzker Prize in 2018 is :
Options :

T s
70819137729, D-V- Doshi

70819137730, Laurie Baker

70819137731, & Rewal

70819137732. Achyut Kanvinde

Question Number : 48 Question Id : 70819111625 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2018 “Qp330°" a’;p‘,uod;si:w TBT HRTUSCH BRTOIOD wAIO oIRT ?

Options:

LA . 5
70819137729, &-- DRA

70819137730, $R0 LeFT

~ ogf - ==
70819137731, 008 U9

93 T O
70819137732. g

Question Number : 49 Question Id : 70819111626 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Word “Bungalow” has originated from :

Options :

70819137733, Bengalurm

70819137734, banaras

70819137735, bengal

70819137736, Dari

Question Number : 49 Question Id : 70819111626 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“Vonde” TTH) oIRm FITNT JLe3DoT wWohT 72
Options :

L PN
70819137733, SOMRRT=F

L) OO A

70819137734.

4‘,--\. =, =g
70819137735, ~°N°%

70819137736, =~

Question Number : 50 Question Id : 70819111627 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The IIM - Ahmedabad is designed by which of the following Architect ?
Options :

70819137737, Laurie Baker

70819137738, Louis Kahn

70819137739, Lutyen

70819137740, Le Corbusier

Question Number : 50 Question Id : 70819111627 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
0.0, (M) eBDTRTD, 8 9T odRT mRdIody HWARRLART ?

Options :

— & y
70819137737, TR0 ©EET

70819137738, DRO® 3BT

- ]
70819137739, 2R¥T

70819137740.

Question Number : 51 Question Id : 70819111628 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In the given figure, how many squares are present ?

Options :

()

70819137741, 14

3

=

70819137742.

(=1

70819137743, 12

—

70819137744, 18

Question Number : 51 Question Id : 70819111628 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
;B PN efaeﬁéod:,gg_ @Eﬁ& BT (RINF)NPRH 9

Options :
4

(-]

70819137741.

=

70819137742, 13

5

=

70819137743.

8

—

70819137744.



Question Number : 52 Question Id : 70819111629 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A drawing is provided with all the folds to construct the following three Dimensional object.
Select the correct one.

Options :
I e
1 |
70819137745.
I| [
I
I
70819137746.
-
_I .-
| |-
70819137747.

70819137748.



Question Number : 52 Question Id : 70819111629 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FONT 3B DD, NRFILD Q0 DRINCROON OVOIF W, WHNILNT.
I “ ! - “
ROOIRT @ORON &, 80A WIRNO.
- o,

Options :

70819137745.

70819137746.

70819137747.



70819137748.

Question Number : 53 Question Id : 70819111630 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct view looking in the
direction of arrow, amongst the answer figures.

—KE O
[

Options :

70819137749.

70819137750.



70819137751.

70819137752.

Question Number : 53 Question Id : 70819111630 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& 903 TF, wEy o dectiad, SR med BIIY Deemtd
AOCIRT Heetidmy, Mo,

—~ KN O
[

Options :

70819137749.



70819137750.
70819137751.
70819137752.

Question Number : 54 Question Id : 70819111631 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

—
I

Options:

70819137753.



70819137754.

70819137755.

70819137756.

Question Number : 54 Question Id : 70819111631 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Bob U SIMAT @ e, oM

i) =

o !
W
00T ‘WOBeTT R, NS 3T uivoen ™

== ;
I

3

(&

. e DINY et

AT
g 5
T0820.

L

Options:

70819137753.

70819137754.



70819137755.

70819137756.

Question Number : 55 Question Id : 70819111632 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

L

T

Options :

70819137757.

70819137758.

708191377509.



70819137760.

Question Number : 55 Question Id : 70819111632 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

q.ﬂod, B3 DA NWIE Ei.rax..,aﬁi 3R00M3T.
DoIRT ‘wdde EJ“TS.; %%Jﬁ‘j NET Qﬁﬁﬁé‘ed YER0.

2"L'

<>

Options :

70819137757.

70819137758.

70819137759.




70819137760.

Question Number : 56 Question Id : 70819111633 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in problem figure in same size and direction.
Select correct one.

Options :
70819137761. >
70819137762. D
70819137763. v
70819137764. ﬁ

Question Number : 56 Question Id : 70819111633 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
70819137761. >
70819137762. D
70819137763. v
70819137764. ﬁ

Question Number : 57 Question Id : 70819111634 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Oneof the f nllowmg answer figurr_-s ishidden in problem f igure in the same size and direction.
Select correct one.

Options :

70819137765. @



70819137766. Q

70819137767. 6

70819137768. m

Question Number : 57 Question Id : 70819111634 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

#InT w%dﬁ%@ é.ra&é_d.;ﬁ 23;3@'30& E._"g,ﬁdod: B30Y oNTRA S ®EAT. BOOSTN

GBI aﬁgﬁ&w mThe 0.

Options :

70819137765.

70819137767.

™
70819137766. Q
0
N

70819137768.

Question Number : 58 Question Id : 70819111635 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Cmndﬂmfdbwﬁgammmﬁ%umsEthmnnﬂmpﬁmhmﬁgmemsmmmHDMMdﬁmﬁmL
Select the correct one.

Options:

708191377609.

70819137771.

N
A
>

70819137772.

Question Number : 58 Question Id : 70819111635 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
BUNT UETNYY SRLIOR wZHpoth TJOD wIIY obgead wEND.  ROCIRN

3 - — 1 L

BT R, THOSAO.

Options :

70819137769. :



70819137770. i
70819137771. :

70819137772. [>

Question Number : 59 Question Id : 70819111636 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in the problem figure in same size and direction.
Select the correct one.

Options :
70819137773. D
70819137774. D
70819137775. O
70819137776. ;

Question Number : 59 Question Id : 70819111636 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
YRS ITNYY m%{m WIHpoth THOL 8ZTY obiRAs @BENE.  ROOSRA

A o o it

SBTH 23D, HOSO.

Options :
70819137773. D
70819137774. D
70819137775. O
70819137776. ;

Question Number : 60 Question Id : 70819111637 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the answer t’igurr_-s is correct mirror image of prnblc-m figuro with respect to
XX ?

[

[

Options :



70819137777.

70819137778.

70819137779.

arf e e

70819137780.

Question Number : 60 Question Id : 70819111637 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



XXT Rowopamod Feh wEAR ZOcIRN Beedd WP W, 9N €8T
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UESD, deel DD

X
[
[]
X
Options :
]
70819137777.
[]
[ 1]
70819137778.
[]
]
70819137779.

70819137780.



Question Number : 61 Question Id : 70819111638 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X ?

N\
A
N\

70819137783.



P,

)
V

oN

70819137784.

Question Number : 61 Question Id : 70819111638 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

XX7# Rowoprmod TBoh w3 sh XociRN Berws WA wIDD, SRS 3o
UeSD, dwed HDHSAO.

X X

Options :

70819137781.

70819137782.



(e
3

A
\
70819137784.

Question Number : 62 Question Id : 70819111639 Question Type : MCQ Option Shuffling : Yes

¥,

70819137783.

N2

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X ?

7 X
Y/INN

/
N X

Options :

70819137785.



s s

P s g

70819137786.

/
PR

>

70819137787.

N
V%

N4
/AN

70819137788.

Question Number : 62 Question Id : 70819111639 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



XX1 Bowobamod
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Options :
i
L N\Y
P
70819137785. //
L
NV
o
70819137786. f/
N
P
\/
70819137787. KXT\\

70819137788.

Sl

N4

/N




Question Number : 63 Question Id : 70819111640 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer t’igures complete the sequence of the prnh[em t’igure 7 Select the

n}g?
I
DA
b

N
S

Options :

708191377809.

70819137790.

70819137791.

70819137792.

Question Number : 63 Question Id : 70819111640 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



8UNT o3 ¥y XooimN, TIoLJNT UPE WMEDID, TeerArYBET.

?
Options :
74
708191377809.
70819137790.
70819137791. ‘
70819137792. |

Question Number : 64 Question Id : 70819111641 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819137793.

70819137794.

70819137795.

70819137796.

Question Number : 64 Question Id : 70819111641 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



BUNT 33 ¥R [WAT IRLTW, IPOWIT. W3 0339 SRETETD
AHOodRE deetism, wﬁd WENYon MT8AD.
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Options :

70819137793.

70819137794.

70819137795.

70819137796.

Question Number : 65 Question Id : 70819111642 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

3

%

Options :

70819137797.

70819137798.

70819137799.

70819137800.



Question Number : 65 Question Id : 70819111642 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
UNT 30’ WSy TWAT SR, 30OWIT. T DITY FeeBDIBT

< = El

HOOIRT ey w3 WERYOT MTHSAD.

\N

7

Options :

70819137797.

70819137798.

70819137799.

70819137800.



Question Number : 66 Question Id : 70819111643 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

Options :

70819137801.

[ ]

70819137802.



70819137803.

70819137804.

Question Number : 66 Question Id : 70819111643 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
NS 8oy IRNT dectiT, Se0IT. WD DIIY JRBITF BORT
DRCITR, ST UERV0T HTLED.

-

Options :

70819137801.




70819137802.

70819137803.

70819137804.

Question Number : 67 Question Id : 70819111644 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/!

Options :

70819137805.



70819137806.

70819137807.

70819137808.

Question Number : 67 Question Id : 70819111644 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TUAT 30 83T INIT JecuDD, 30T,  med BIFY Jee@ENT
AOOIRE DRETT, W8T WERY0T MTERD.

/1

Options :

70819137805.

70819137806.



70819137807.

70819137808.

Question Number : 68 Question Id : 70819111645 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/!

Options :

708191378009.

70819137810.

70819137811.



70819137812.

Question Number : 68 Question Id : 70819111645 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

§9NT 36 wZron) SANT eI, d0WIB. WD DY JRCBENT WU
ﬁjﬁﬁ?c d."“mr.}

/I

Options :

708191378009.

70819137810.

70819137811.

70819137812.



Question Number : 69 Question Id : 70819111646 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

%

Options :

70819137813.

70819137814.

70819137815.

70819137816.



Question Number : 69 Question Id : 70819111646 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

30N ‘33 w3 JIaS FeeN®, 3pe0RIT.  men 03N Fne@dEdw
-~ = a = T ™ =

WIT BFieon MDD,

2

Options :

70819137813.

70819137814.

70819137815.



70819137816.

Question Number : 70 Question Id : 70819111647 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819137817. '

70819137818.

70819137819.



70819137820.

Question Number : 70 Question Id : 70819111647 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
NS 3’ 233ree) WA Eﬁm@iﬁéﬁi 3ne0R3TE.  wmend Cﬁ%&ﬂ@ﬁ SREEEH
HOOIRT Seetimm, G WIRYOT MIELD.

£

Options :

70819137817. '

70819137818.

70819137819.

70819137820.



Question Number : 71 Question Id : 70819111648 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/I

Options :

70819137821. —I

70819137822. l

70819137823.

70819137824.



Question Number : 71 Question Id : 70819111648 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3RS 30’ SRy R drehaﬁi 300 Ed woeedd 033 Ej.r‘rfCSJ:ﬁuaﬂ
ROOINT Sek ES‘L N3 d ﬁufﬁ% d mhaud.

Vi

Options :

70819137821. —I

70819137822. l

70819137823.

70819137824.



Question Number : 72 Question Id : 70819111649 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

y

4

Options:
70819137825.
70819137826.

70819137827.



70819137828.

Question Number : 72 Question Id : 70819111649 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9N 3@’ 1By ES’%-:.JES Eﬂﬁf%&d&i}q éﬂfaﬁ‘iﬂ. AR @’&&Ejfi Eﬁﬁf&g&&ﬂ

AOOIRT Seetimm, H0IT ¥ENeon MTDERD.
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Options :
70819137825.
70819137826.

70819137827.



70819137828.

Question Number : 73 Question Id : 70819111650 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

Options:

|
70819137829. L

L
70819137830. | I

70819137831.



70819137832. |

Question Number : 73 Question Id : 70819111650 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

8ONT 33" wZRE) [WIT SeeumD), 30e0MIW. T DIZY See@DET
ROCIRE Sweetisa, $U8T 83Rv0n MTHER0.
o =2

Options :

|
70819137829. L

|
70819137830. | |

70819137831.



70819137832. |

Question Number : 74 Question Id : 70819111651 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819137833.

70819137834.

70819137835.



70819137836.

Question Number : 74 Question Id : 70819111651 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
39N 3’ Wy DAID IO aﬂ‘i; 30e0R3T.  mend AL BREEE TR
ROCIRT Eﬂﬂf@id?ﬁi &“uai BEneon ’d.,éu

4

Options :

70819137833.

70819137834.

70819137835.

70819137836.



Question Number : 75 Question Id : 70819111652 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819137837.

70819137838.

708191378309.

70819137840.



Question Number : 75 Question Id : 70819111652 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SONT 30 UEey) IS JeiTI), pcdIT.  XORE WIZ JeeE

39T 0BT BIHOT TSRO,

Options :

70819137837.

70819137838.

70819137839.

70819137840.



Question Number : 76 Question Id : 70819111653 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819137841.

70819137842.

70819137843.

70819137844.

Question Number : 76 Question Id : 70819111653 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



BUNT 33’ 83wy TWIT SewdmD, decdwIW.  A0IRT WHE DeckiEm,
FOAT QST BSHOT HTLSAO.
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Options :

70819137841.

70819137842.

70819137843.

70819137844,

Question Number : 77 Question Id : 70819111654 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the
answer figures.



Options :

70819137845.
|_|_‘
70819137846.
L[__
70819137847.
|_r
70819137848.

Question Number : 77 Question Id : 70819111654 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

39NT ‘33’ u3nm IR JeeidT, 20edH3E.  T0odRT RE FeewiEm,
== . a 5 L “
39N VST WIYOT OO,

Options:

70819137845.



70819137846.
70819137847.
70819137848.

Question Number : 78 Question Id : 70819111655 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identﬂ'}-' the buﬂding compositions of having less visual tension amongst the fo[lowing figurcs.

(A) (B)
(C) (D)
Options :

70819137849, () and (B)

(B) and (C)
70819137850.

70819137851, (©) and (D)

70819137852, (D) and (A)



Question Number : 78 Question Id : 70819111655 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

& $¢NT odwa IWAEAD Hoodeexdodw IRH Tmeed wdns TFIW,
BRODES 9

(&) (B)
(© (D)
Options :
70819137849, (A) 3= (B)

wghy
20819137850, (B) ¥, (©)

70819137851, (©) ¥ (D)

70819137852, (D) 2 (4)

Question Number : 79 Question Id : 70819111656 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.




Options :

Il
70819137853.

70819137854.

70819137855. |_ |_| |_|

70819137856.

Question Number : 79 Question Id : 70819111656 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

*i“:.}d, WS VWD I Eiff&aji BRC0RTTH. T BIFY NReRET
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Options :

I
70819137853. |-|-

70819137854.

70819137855.



70819137856.

Question Number : 80 Question Id : 70819111657 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The prohlem t’iguro shows the top view of an ohject. ldontﬂ'}-' the correct elevation amongst
the answer figures looking in the direction of arrow.

[
\

Options :

70819137857.

70819137858.

70819137859.



70819137860.

Question Number : 80 Question Id : 70819111657 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TIOH WE SNIT g eI, Sec0NIT. WT DINY IReBENS
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Options :

70819137857.

70819137858.



708191378509.
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N/

70819137860.

Drawing
Section Id : 708191396
Section Number : 4
Section type : Offline
Mandatory or Optional : Mandatory
Number of Questions : 2
Number of Questions to be attempted : 2
Section Marks : 100
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191676

Question Shuffling Allowed : No



Question Number : 81 Question Id : 70819111658 Question Type : SUBJECTIVE

Correct Marks : 50
Draw a proportionate sketch of given reference image by using any black and white rendering
techniques of your own choice.
OR

Decode image and prepare balanced composition in a frame of your choice by using any
black and white rendering techniques.

Question Number : 81 Question Id : 70819111658 Question Type : SUBJECTIVE

Correct Marks : 50



BRL0N gD IR, eed. Lot Hawedd (TPwedrder) AF (skeich)
u), ¥ Wb doBoon” oI, wYA TuA.

e
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(Balanced composition) 3 RO Somoor J03IW, WFAH TBAD,

Question Number : 82 Question Id : 70819111659 Question Type : SUBJECTIVE

Correct Marks : 50

Draw a scene of a Kite festival by using colors.
OR
Draw a Harmonic three dimensional composition with the following two types of objects.
(i) CUBOID A :SIZE 2 cmX 2 ¢cm X2 cm, 5 Nos.
(i) CUBOID B :SIZE5 ecmx2 cmx 2 cm, 4 Nos.

Use “Cool Colorscheme” for composition.

Question Number : 82 Question Id : 70819111659 Question Type : SUBJECTIVE

Correct Marks : 50



MYTND BT TIDR, WENTRD, WA, WOTTWN, FETITIN, IIFTN
WAEA0,
et
PN 0F RRTO0H ﬁ#gﬂaod, mﬁa%ﬁmzﬁ (Harmonic) ‘3'D NOOiFIEZﬁ}OdJE’b
W0,
(i) FI ‘A:9¢32cm x 2em X 2em - 5 nos.
(i) F& B :©¥35cm x 2em X 2cm - 4 nos.
Roodpendn 2o wandd wwamoleeny.



